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PART—I

( GENERAL STUDIES )

1. How many three-digit numbers

are divisible by 5?

(A) 180

(B) 200

(C) 120

(D) More than one of the above

(E) None of the above

2. The value of

1
1

2
1

1

3
1

1

4
1

1

120
+æ

èç
ö
ø÷

+æ
èç

ö
ø÷

+æ
èç

ö
ø÷

+æ
èç

ö
ø÷

L

is

(A) 60·5

(B) 30·0

(C) 40·5

(D) More than one of the above

(E) None of the above

3. The distance between Delhi and

Agra is 200 km. Suppose you

are travelling from Delhi to Agra

by a car. If you can maintain an

average speed of 90 km/hr for

120 km and 40 km/hr for the

remaining distance, how much

time will you take, on average, to

reach Agra?

(A) 3 hr 20 min

(B) 3 hr 30 min

(C) 4 hr 45 min

(D) More than one of the above

(E) None of the above

4. 10% loss on selling price is what

percent loss on cost price?

(A) 9 1
11

%

(B) 9 2
11

%

(C) 10%

(D) More than one of the above

(E) None of the above

5. A pizza boy delivered two-fifths of

his pizzas on day 1, three-fourths

of his pizzas on day 2 and 9
16

of

his pizzas on day 3. On which

day did he deliver the most

pizzas if he had the same

number of pizzas in the

beginning of each day?

(A) Day 1

(B) Day 2

(C) Day 3

(D) More than one of the above

(E) None of the above

6. The cost of carpeting a room

18 m long with a carpet 75 cm

wide at R 4·50 per metre is

R 810. The breadth of the room

is

(A) 7 m

(B) 7·5 m

(C) 8 m

(D) More than one of the above

(E) None of the above
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PART—I

( GENERAL STUDIES )

1. VrZ AßH$moß H$s {H$VZr gßª`mE± 5 go {d^m¡`

h¢?

(A) 180

(B) 200

(C) 120

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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H$m _mZ h°

(A) 60·5

(B) 30·0

(C) 40·5

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

3. {XÑr Am°a AmJam Ho$ ~rM H$s Xyar

200 {H$0 _r0 h°ü& _mZ br{OE Amn {XÑr go

AmJam EH$ H$ma ¤mam Om aho h¢ü& `{X Amn

120 {H$0 _r0 Hoo$ {bE Am°gV J{V

90 {H$0 _r0/Kß0 Am°a ~mH$s Xyar Ho$ {bE

Am°gV J{V 40 {H$0 _r0/Kß0 ~ZmE aIVo h¢,

Vmo AmnH$mo AmJam nh˛±MZo _| Am°gVZ {H$VZm

g_` bJoJm?

(A) 3 KßQ>m 20 {_ZQ>

(B) 3 KßQ>m 30 {_ZQ>

(C) 4 KßQ>m 45 {_ZQ>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

4. {dH´$` _yÎ` na 10% H$s hm{Z, bmJV _yÎ`

na {H$VZo ‡{VeV H$s hm{Z h°?

(A) 9 1
11

%

(B) 9 2
11

%

(C) 10%

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

5. EH$ {nÇmm dmbm nhbo {XZ Xmo-nm±Mdoß {nÇmm,

Xygao {XZ VrZ-Mm°WmB© {nÇmm Am°a Vrgao {XZ
9

16
{nÇmmAm| H$m {dVaU H$aVm h°ü& `{X ‡À`oH$

{XZ H$s ewÈAmV _| CgHo$ nmg g_mZ gßª`m _|

{nÇmm Wo, Vmo CgZo {H$g {XZ g~go A{YH$

{nÇmm {dV[aV {H$E?

(A) nhbo {XZ

(B) Xygao {XZ

(C) Vrgao {XZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

6. 18 _rQ>a bÂ~o EH$ H$_ao _|, 75 go0 _r0

Mm°ãS>o JbrMo H$m Cn`moJ H$aHo$, JbrMm {~N>mZo

H$s bmJV R 4·50 ‡{V _rQ>a H$s Xa go

R 810 h°ü& H$_ao H$s Mm°ãS>mB© h°

(A) 7 _rQ>a

(B) 7·5 _rQ>a

(C) 8 _rQ>a

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



7. Two persons A and B complete a

task in 15 days, when they work

together. Person A completes the

task in 20 days if he works

alone. How many days will B

take to finish the task alone?

(A) 35 days

(B) 25 days

(C) 60 days

(D) More than one of the above

(E) None of the above

8. The sum of the numerator and

denominator of a fraction is 11.

If 1 is added to the numerator

and 2 is subtracted from the

denominator, it becomes
2

3
. The

fraction is

(A)
5

6

(B)
6

5

(C)
3

8

(D) More than one of the above

(E) None of the above

9. An isotropic source of 2 candela

produces light flux equal to

(A) 2p lumen

(B) 4p lumen

(C) 8p lumen

(D) More than one of the above

(E) None of the above

10. The spray bottles used as

window or household cleaner or

perfume sprayer work on

(A) capillary action

(B) Bernoulli’s principle

(C) Pascal’s law

(D) More than one of the above

(E) None of the above

11. The trade name of basic lead

carbonate is

(A) white lead

(B) red lead

(C) litharge

(D) More than one of the above

(E) None of the above

12. Which of the following elements

has the largest atomic radius?

(A) Lithium

(B) Beryllium

(C) Boron

(D) More than one of the above

(E) None of the above
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7. Xmo Ï`{∫$ A Am°a B EH$ H$m_ H$mo 15 {XZm| _ßo

nyam H$a XoVo h¢, `{X do EH$ gmW H$m_ H$aVo h¢ü&

Ï`{∫$ A AHo$bm Cgr H$m_ H$mo 20 {XZm| _|

nyam H$a XoVm h°ü& `h H$m_ AHo$bm B {H$VZo

{XZm| _| nyam H$a nmEJm?

(A) 35 {XZm| _|

(B) 25 {XZm| _|

(C) 60 {XZm| _|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

8. EH$ {^fi Ho$ Aße Am°a ha H$m `moJ 11 h°ü&

`{X Aße _| 1 OmoãS> {X`m Om` Am°a ha _| go

2 KQ>m {X`m Om`, Vmo `h
2

3
hmo OmVm h°ü& {^fi

h°

(A)
5

6

(B)
6

5

(C)
3

8

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

9. 2 H°$›S>obm H$m EH$ g_{XH≤$ ÚmoV {OVZm ‡H$me

‚bäg n°Xm H$aVm h°, dh h°

(A) 2p Î`y_oZ

(B) 4p Î`y_oZ

(C) 8p Î`y_oZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

10. qdS>mo `m Kaoby äbrZa `m n‚`©y_ Ò‡o`a Ho$ Í$n

_| BÒVo_mb H$s OmZo dmbr Ò‡o ~moVb|

{ZÂZ{b{IV _| go {H$g na H$m_ H$aVr h¢?

(A) Ho${eH$m {H´$`m

(B) ~aZm°br H$m {g’mßV

(C) nmÒH$b H$m {Z`_

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

11. jmar` (~o{gH$) boS> H$m~m}ZoQ> H$m Ï`mnm[aH$

Zm_ h°

(A) g\o$Xm (àmBQ> boS>)

(B) qgXya (aoS> boS>)

(C) {bWmO©

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

12. {ZÂZ{b{IV _| go {H$g VŒd H$s na_mUw {Ã¡`m

g~go ~ãS>r h°?

(A) {b{W`_

(B) ~o[a{b`_

(C) ~moam∞Z

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



13. The phenomenon of photo-

periodism in plants was

discovered by

(A) Garner and Allard

(B) Steward and Salisbury

(C) Thimann and Skoog

(D) More than one of the above

(E) None of the above

14. Silent Valley of Kerala is

preserved because

(A) it contains very rare species

of plants and animals

(B) the soil is rich in minerals

(C) the areas of land were used

extensively for agriculture

purposes

(D) More than one of the above

(E) None of the above

15. During normal respiration in a

mammal, the diaphragm is

(A) arched

(B) flattened

(C) lowered

(D) More than one of the above

(E) None of the above

16. The most important cell type

associated with the immunity of

the body is

(A) platelets

(B) lymphocytes

(C) RBCs

(D) More than one of the above

(E) None of the above

17. The book entitled, Gyan Deepak

was authored by a great saint

(A) Salar Masood Ghazi

(B) Dariya Saheb

(C) Imam Shah Faqih

(D) More than one of the above

(E) None of the above

18. Which agency in India has

launched UTSAH portal?

(A) UGC

(B) AICTE

(C) MCI

(D) More than one of the above

(E) None of the above

19. A. P. J. Abdul Kalam Satellite

Launch Vehicle Mission was

launched on

(A) 13th February, 2023

(B) 20th February, 2023

(C) 19th February, 2023

(D) More than one of the above

(E) None of the above

20. In which city was the first

pure green hydrogen plant

commissioned?

(A) Hyderabad

(B) Mumbai

(C) Pune

(D) More than one of the above

(E) None of the above
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13. nm°Ymoß _| ‡Xr{·H$m{bVm H$s ImoO H$aZo dmbo h¢

(A) JmZ©a Am°a EbmS>©

(B) ÒQ>rdS>© Am°a g°{bg~ar

(C) Wr_°Z Am°a ÒHy$J

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

14. Ho$ab H$s emßV KmQ>r (gmBb|Q> d°br) gßa{jV

h°, ä`m|{H$

(A) Bg_| nm°Ym| Am°a OmZdam| H$s ~h˛V hr

Xwb©^ ‡Om{V`m± nmB© OmVr h¢

(B) {_≈>r I{ZOm| go ^anya h°

(C) H•${f ‡`moOZm| Ho$ {bE ^y{_ Ho$ joÃm| H$m

~ãS>o n°_mZo na Cn`moJ {H$`m OmVm Wm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

15. ÒVZYmar _| gm_m›` ÌdgZ Ho$ Xm°amZ S>m`m\´$m_

hmoVm h°

(A) YZwfmH$ma

(B) MnQ>m

(C) ZrMo Y±gm h˛Am

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

16. eara H$s ‡{VamoYH$ j_Vm go OwãS>r g~go

_hŒdnyU© H$mo{eH$m ‡H$ma h°

(A) flboQ>boQ

(B) {bÂ\$mogmBQ>

(C) Ama0 ~r0 gr0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

17. kmZ XrnH$ Zm_H$ nwÒVH$ H$s aMZm {H$g _hmZ

gßV Zo H$s Wr?

(A) gmbma _gyX µJmµOr

(B) X[a`m gmho~

(C) B_m_ emh \$µH$sh

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

18. ^maV _| {H$g EO|gr Zo UTSAH nmoQ>©b H$m

ew^maß^ {H$`m h°?

(A) `y0 Or0 gr0

(B) E0 AmB0 gr0 Q>r0 B©0

(C) E_0 gr0 AmB0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

19. E0 nr0 Oo0 A„Xwb H$bm_ g°Q>obmBQ> bm∞›M

dr{hH$b {_eZ H$mo bm∞›M {H$`m J`m Wm

(A) 13 \$adar, 2023 H$mo

(B) 20 \$adar, 2023 H$mo

(C) 19 \$adar, 2023 H$mo

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

20. {H$g eha _| ‡W_ ew’ h[aV hmBS¥>moOZ gß`ßÃ

Mmby {H$`m J`m Wm?

(A) h°Xam~mX

(B) _wß~B©

(C) nwUo

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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21. Which year has been declared

by the UNO as the ‘International

Year of Millets’?

(A) 2023

(B) 2022

(C) 2024

(D) More than one of the above

(E) None of the above

22. Who among the following won

the 2022 Nobel Peace Prize?

(A) Ales Bialiatski

(B) Nadia Murad

(C) Maria Ressa

(D) More than one of the above

(E) None of the above

23. Who is the Chairman of the

State Commission for Backward

Classes appointed by the Bihar

Government on 2nd January,

2022?

(A) Justice Sanjay Kumar

(B) Justice Balmiki Prasad

Sinha

(C) Justice Iqbal A. Ansari

(D) More than one of the above

(E) None of the above

24. Which was the first movie in

Bhojpuri?

(A) Ganga Maiya Tohe Piyari

Chadhaibo

(B) Kanyadan

(C) Nadiya Ke Paar

(D) More than one of the above

(E) None of the above

25. Arrange the following thermal

power projects of India from east

to west :

1. Kota

2. Namrup

3. Obra

4. Parichha

Select the correct answer

using the codes given below.

(A) 1, 2, 3, 4

(B) 2, 4, 1, 3

(C) 2, 3, 4, 1

(D) More than one of the above

(E) None of the above

26. Which type of climate is in India

according to Trewartha?

(A) Savanna type

(B) Subtropical monsoon climate

(C) Mediterranean type

(D) More than one of the above

(E) None of the above
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21. gß`w∫$ amÔ¥> gßK ¤mam {H$g df© H$mo "AßVam©Ô¥>r`

{_boQ> df©' Kmo{fV {H$`m J`m h°?

(A) 2023

(B) 2022

(C) 2024

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

22. {ZÂZ{b{IV _| go {H$gZo 2022 H$m Zmo~ob

emß{V nwaÒH$ma OrVm?

(A) Ebog {~`m{b`mÀÒH$s

(B) Zm{X`m _wamX

(C) _m[a`m aogm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

23. 2 OZdar, 2022 H$mo {~hma gaH$ma ¤mam

{Z`w∫$ am¡` {nN>ãS>m dJ© Am`moJ Ho$ A‹`j

H$m°Z h¢?

(A) ›`m`_y{V© gßO` Hw$_ma

(B) ›`m`_y{V© ~mÎ_r{H$ ‡gmX {g›hm

(C) ›`m`_y{V© BH$~mb E0 A›gmar

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

24. ^moOnwar H$s nhbr {\$Î_ H$m°Z-gr Wr?

(A) JßJm _°`m Vmoho {n`ar MãT>B~mo

(B) H$›`mXmZ

(C) Z{X`m Ho$ nma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

25. ^maV Ho$ {ZÂZ{b{IV W_©b nmda ‡moOoäQ>m| H$mo

nyd© go npÌM_ {Xem _| Ï`dpÒWV H$s{OE Ö

1. H$moQ>m

2. Zm_Í$n

3. Amo~am

4. nmarN>m

ZrMo {XE JE Hy$Q> H$m ‡`moJ H$a ghr CŒma

Mw{ZEü&

(A) 1, 2, 3, 4

(B) 2, 4, 1, 3

(C) 2, 3, 4, 1

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

26. {Q¥>dmWm© Ho$ AZwgma ^maV H$s Obdm`w {H$g

‡H$ma H$s h°?

(A) gdmZm ‡H$ma

(B) CnmoÓU _mZgyZr Obdm`w

(C) ^y_‹`gmJar` ‡H$ma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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27. What is the normal date

of withdrawal of south-west

monsoon at Hyderabad?

(A) 1st October

(B) 15th October

(C) 1st November

(D) More than one of the above

(E) None of the above

28. Which of the following States

has maximum urbanization?

(A) Goa

(B) Maharashtra

(C) Karnataka

(D) More than one of the above

(E) None of the above

29. ‘Malnad’ region is associated

with which of the following

plateaus of India?

(A) Telangana Plateau

(B) Maharashtra Plateau

(C) Karnataka Plateau

(D) More than one of the above

(E) None of the above

30. South Peninsular Upland is a

part of

(A) Gondwana Land

(B) Laurentia Land

(C) Antarctica Continent

(D) More than one of the above

(E) None of the above

31. The percentage of population of

Bihar with respect to India’s

total population is

(A) 8·58%

(B) 10·10%

(C) 12·25%

(D) More than one of the above

(E) None of the above

32. Which of the following pairs

is not correctly matched with

respect to south of Ganga region

in Bihar?

(A) Patna–Munger

(B) Gaya–Arwal

(C) Patna–Vaishali

(D) More than one of the above

(E) None of the above
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27. h°Xam~mX _| X{jU-npÌM_ _mZgyZ H$s dm{ngr

H$s gm_m›` {V{W ä`m h°?

(A) 1 AäVy~a

(B) 15 AäVy~a

(C) 1 ZdÂ~a

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

28. {ZÂZ{b{IV _|ß go {H$g am¡` _| ZJarH$aU

gdm©{YH$ h°?

(A) Jmodm

(B) _hmamÔ¥>

(C) H$Zm©Q>H$

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

29. "_mbZmS>' joÃ H$m gÂ~›Y {ZÂZ{b{IV _| go

^maV Ho$ {H$g nR>ma go h°?

(A) VobßJmZm H$m nR>ma

(B) _hmamÔ¥> H$m nR>ma

(C) H$Zm©Q>H$ H$m nR>ma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

30. X{jUr ‡m`¤rnr` CÉ^y{_ —— H$m ^mJ h°ü&

(A) Jmo�S>dmZm b°›S>

(B) bm∞aoß{e`m b°›S>

(C) A›Q>mH©${Q>H$m _hm¤rn

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

31. ^maV H$s Hw$b OZgßª`m Ho$ gmnoj {~hma H$s

OZgßª`m H$m ‡{VeV ä`m h°?

(A) 8·58%

(B) 10·10%

(C) 12·25%

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

32. {ZÂZ{b{IV _| go H$m°Z-gm OmoãS>m {~hma Ho$

X{jU JßJm joÃ go _ob Zht ImVm h°?

(A) nQ>Zm–_wßJoa

(B) J`m–Aadb

(C) nQ>Zm–d°embr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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33. Who is called the ‘Prophet of

New India’?

(A) Raja Ram Mohan Roy

(B) Dayananda Saraswati

(C) Dadabhai Naoroji

(D) More than one of the above

(E) None of the above

34. Which revolt is mentioned

in Anandamath of Bankim

Chandra Chattopadhyay?

(A) Sannyasi

(B) Santhal

(C) Indigo

(D) More than one of the above

(E) None of the above

35. Who was the founder of

‘Abhinav Bharat’ in London?

(A) Vinayak Damodar Savarkar

(B) P. M. Bapat

(C) Shyamji Krishna Varma

(D) More than one of the above

(E) None of the above

36. Where was the Ghadar Party

established?

(A) France

(B) Germany

(C) United States of America

(D) More than one of the above

(E) None of the above

37. Who was appointed as the

‘Commander in Chief’ by Birsa

Munda?

(A) Demka Munda

(B) Gaya Munda

(C) Sundar Munda

(D) More than one of the above

(E) None of the above

38. Who formed the Bihar Socialist

Party?

(A) Phulan Chand Tiwari and

Rajendra Prasad

(B) Phulan Prasad Varma and

Jayaprakash Narayan

(C) Raj Kumar Shukla and

Swami Agnivesh

(D) More than one of the above

(E) None of the above

39. In which year was the ‘Bihar

Provincial Congress Committee’

formed with its headquarters at

Patna?

(A) 1908

(B) 1910

(C) 1906

(D) More than one of the above

(E) None of the above

40. Who established a branch of

the Anushilan Samiti in Patna

in 1913?

(A) Ramananda Sinha

(B) Satish Jha

(C) Sachindra Nath Sanyal

(D) More than one of the above

(E) None of the above
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33. "Zd^maV H$m n°JÂ~a' H$m°Z H$hbmVm h°?

(A) amOm am__mohZ am`

(B) X`mZ›X gaÒdVr

(C) XmXm^mB© Zm°amoOr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

34. ~ß{H$_ M›– M≈>monm‹`m` Ho$ AmZ›X_R _| {H$g

{d–moh H$m CÑoI h°?

(A) g››`mgr

(B) g›Wmb

(C) Zrb

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

35. bßXZ _| "A{^Zd ^maV' H$m gßÒWmnH$ H$m°Z

Wm?

(A) {dZm`H$ Xm_moXa gmdaH$a

(B) nr0 E_0 ~mnQ>

(C) Ì`m_Or H•$ÓU d_m©

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

36. µJXa nmQ>u H$s ÒWmnZm H$hm± na h˛B© Wr?

(A) \´$mßg

(B) O_©Zr

(C) gß`w∫$ am¡` A_o[aH$m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

37. {~agm _w�S>m ¤mam {H$gH$mo "H$_m›S>a BZ≤ Mr\$'

{Z`w∫$ {H$`m J`m Wm?

(A) Xo_H$m _w�S>m

(B) J`m _w�S>m

(C) gw›Xa _w�S>m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

38. {~hma g_mOdmXr nmQ>u H$m JR>Z {H$›hmoßZo {H$`m

Wm?

(A) \y$bZMßX {Vdmar Am°a amOo›– ‡gmX

(B) \y$bZ ‡gmX d_m© Am°a O`‡H$me

Zmam`U

(C) amOHw$_ma ewäb Am°a Òdm_r A{ædoe

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

39. "{~hma ‡m∞{dp›g`b H$m±J´og H$_oQ>r' {OgH$m

_wª`mb` nQ>Zm _| h°, H$m JR>Z {H$g df©

h˛Am?

(A) 1908

(B) 1910

(C) 1906

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

40. 1913 _| nQ>Zm _| AZwerbZ g{_{V H$s EH$

emIm H$s ÒWmnZm {H$gZo H$s Wr?

(A) am_mZ›X {g›hm

(B) gVre Pm

(C) eMr›–ZmW gm›`mb

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



PART—II

( PSYCHOLOGY )

41. Which perspective is often

referred to as the ‘third force’ in

psychology and focusses on a

person’s freedom of choice in

determining his behaviour?

(A) Biopsychological

perspective

(B) Cognitive psychology

(C) Behaviourism

(D) More than one of the above

(E) None of the above

42. Experimental research and

quasi-experimental research can

be distinguished on the basis of

(A) manipulation of indepen-

dent variables

(B) random assignment of

subjects to experimental

condition

(C) studying causal relationship

(D) More than one of the above

(E) None of the above

43. Who introduced the hierarchical

network of semantic memory?

(A) Sternberg

(B) Collins and Quillian

(C) Tulving

(D) More than one of the above

(E) None of the above

44. Which of the following is not a

group test of intelligence?

(A) Otis-Lennon test

(B) Cognitive abilities test

(C) Henmon-Nelson test

(D) More than one of the above

(E) None of the above

45. Cattell’s culture fair intelligence

test (CFIT) is presumed to

measure

(A) crystallized intelligence

(B) fluid intelligence

(C) verbal fluency

(D) More than one of the above

(E) None of the above

46. A psychologist develops a new

test of numerical ability. He

correlates this test’s scores of

the students with the marks

obtained by them in mathe-

matics in their examination held

recently. The correlation is quite

high. This indicates

(A) high internal consistency of

the test

(B) high predictive validity of

the test

(C) high test-retest reliability of

the test

(D) More than one of the above

(E) None of the above
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PART—II

( PSYCHOLOGY )

41. _Zmo{dkmZ _| {H$g CnmJ_ H$mo ‡m`Ö "V•Vr`

e{∫$' Ho$ Í$n _| d{U©V {H$`m J`m h° Am°a

AnZo Ï`dhma H$mo {ZYm©[aV H$aZo _| Ï`{∫$ H$s

M`Z H$aZo H$s ÒdV›ÃVm na Ho$p›–V h°?

(A) O°d_Zmod°km{ZH$ CnmJ_

(B) gßkmZmÀ_H$ _Zmo{dkmZ

(C) Ï`dhmadmX

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

42. ‡`moJmÀ_H$ AZwg›YmZ Edß A’©-‡`moJmÀ_H$

AZwg›YmZ _| A›Va {H$g AmYma na {H$`m Om

gH$Vm h°?

(A) ÒdV›Ã Mam| _| OmoãS>-VmoãS> Ho$ AmYma na

(B) ‡m`mo{JH$ pÒW{V _| ‡`mo¡`m| H$m

`m—p¿N>H$ Am~ßQ>Z Ho$ AmYma na

(C) H$maU-H$m`© gÂ~›Ym| H$m A‹``Z Ho$

AmYma na

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

43. AW©JV Ò_•{V Ho$ AmZwH´${_H$ ZoQ>dH©$ H$m

‡{VnmXZ {H$gZo {H$`m Wm?

(A) ÒQ>Z©~J©

(B) H$m∞{b›g Edß {π${b`Z

(C) Qw>bqdJ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

44. {ZÂZ{b{IV _| go H$m°Z-gm EH$ ~w{’ H$m g_yh

narjU Zht h°?

(A) Amo{Q>g-boZZ narjU

(B) gßkmZmÀ_H$ `moΩ`Vm narjU

(C) hoZ_Z-ZobgZ narjU

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

45. H°$Q>b Ho$ gßÒH•${V ew’ ~w{’ narjU

(gr0 E\$0 AmB0 Q>r0) go `h AZw_m{ZV

{H$`m OmVm h° {H$ `h _mnZ H$aVm h°

(A) Ò\${Q>H$ ~w{’ H$m

(B) ApÒWa ~w{’ H$m

(C) emp„XH$ ‡dmh H$m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

46. EH$ _Zmod°km{ZH$ gßª`mÀ_H$ `moΩ`Vm H$m EH$

Z`m narjU {dH${gV H$aVm h°ü& dh N>mÃm| Ho$

Bg narjU Ho$ ‡m·mßH$m| H$m ghgÂ~›Y hmb hr

_| gÂnfi CZH$s J{UV H$s narjm _| ‡m· AßH$m|

Ho$ gmW {ZH$mbVm h°ü& `h ghgÂ~›Y n`m©·

CÉ h°ü& `h Bß{JV H$aVm h°

(A) narjU H$s CÉ Am›V[aH$ gßJ{V

(B) narjU H$s CÉ nyd©H$WZ d°YVm

(C) narjU H$s CÉ narjU-nwZÖnarjU

{dÌdgZr`Vm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



47. Match List–I with List–II and

select the correct answer using

the code given below :

List—I

(Attitude scaling

technique)

List—II

(Feature)

a. Equal appearing

interval

1. Checks

unidimensionally

of the scale

b. Paired

comparison

2. Employs Z as a

measure of scale

value

c. Scalogram 3. Can assess

multidimensional

attitudes

d. Summated rating 4. Suitable for

scaling large

number of items

Code :

(A) a b c d

4 2 1 3

(B) a b c d

2 4 1 3

(C) a b c d

4 2 3 1

(D) More than one of the above

(E) None of the above

48. Which one of the following is not

a ‘trait theory’ of personality

proposed through factor

analysis?

(A) Eysenck’s theory

(B) Cattell’s theory

(C) McCrae and Costa’s theory

(D) More than one of the above

(E) None of the above

49. Torrance Test of Creative

Thinking (TTCT) is mainly

indexing

(A) creative products

(B) creative processes

(C) creative personality

(D) More than one of the above

(E) None of the above

50. Which one of the following

phenomena demonstrates that

subject takes longer time to

recognize emotionally charged

words when compared to

neutral stimulus words?

(A) Perceptual vigilance

(B) Perceptual defense

(C) Perceptual shadowing

(D) More than one of the above

(E) None of the above

51. According to Noam Chomsky,

what is a language acquisition

device?

(A) An environment entity that

allows people to learn

foreign language

(B) A biological element of the

brain that allows us to learn

language

(C) A learning method that

many can use to

understand the language of

infants and small children

(D) More than one of the above

(E) None of the above
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47. gyMr-I H$mo gyMr-II go gw_o{bV H$s{OE Am°a

‡XŒm Hy$Q> go ghr CŒma H$m M`Z H$s{OE :

gyMr–I

(A{^d•{Œm _mnZr

VH$ZrH$)

gyMr–II

(bjU)

a. g_—{Ô> A›Vamb 1. _mnZr H$s EH${d_r`Vm H$s
Om±M H$aVm h°

b. `wpΩ_V VwbZm 2. _mnZr _yÎ` Ho$ _mn Ho$ Í$n
_| Z H$m ‡`moJ H$aVm h°

c. ÒHo$bmoJ́m_ 3. ~h˛{d_r`VmnyU© A{^d•{Œm`m|
H$m _yÎ`mßH$Z H$a gH$Vm h°

d. gßH${bV H$mo{Q>
{ZYm©aU

4. ~•hV≤ gßª`m _| nXm| H$mo _mnZo
_| Cn`w∫$

Hy$Q> :

(A) a b c d

4 2 1 3

(B) a b c d

2 4 1 3

(C) a b c d

4 2 3 1

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

48. {ZÂZ{b{IV _| go H$m°Z-gm EH$ H$maH$s`

{dÌbofU ¤mam ‡{Vnm{XV Ï`{∫$Àd H$m "bjU

{g’m›V' Zht h°?

(A) AmBO|H$ H$m {g’m›V

(B) H°$Q>ob H$m {g’m›V

(C) _°H$H´o$ VWm H$moÒQ>m H$m {g’m›V

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

49. g•OZmÀ_H$ {M›VZ H$m Q>m∞ao›g narjU

(Q>r0 Q>r0 gr0 Q>r0) ‡_wI Í$n go _mnZ

H$aVm h°

(A) g•OZmÀ_H$ CÀnmXm| H$m

(B) g•OZmÀ_H$ ‡{H´$`mAm| H$m

(C) g•OZmÀ_H$ Ï`{∫$Àd H$m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

50. {ZÂZ{b{IV KQ>ZmAm| _| go H$m°Z-gr EH$ `h

‡_m{UV H$aVr h° {H$ ‡`mo¡` VQ>ÒW C‘rnH$

e„Xm| H$mo nhMmZZo H$s Anojm gßdoJmÀ_H$ Í$n

go Amdo{eV e„Xm| H$m nhMmZZo _| A{YH$

g_` boVm h°?

(A) ‡mÀ`{jH$ gVH©$Vm

(B) ‡mÀ`{jH$ ajm

(C) ‡mÀ`{jH$ N>m`mßH$Z

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

51. Zmo_ Mm∞ÂÒH$s Ho$ AZwgma, ^mfm A{YJ´hU `ßÃ

ä`m h°?

(A) EH$ dmVmdaUO›` BH$mB© h°, Omo Ï`{∫$`m|

H$mo {dXoer ^mfm grIZo XoVr h°

(B) _pÒVÓH$ H$m EH$ O°{dH$ VŒd h°, Omo h_|

^mfm grIZo XoVm h°

(C) EH$ A{YJ_ {d{Y h°, {OgH$m ~h˛V-go

bmoJ {eewAm| Edß N>moQ>o ~Ém| H$s ^mfm

H$mo g_PZo Ho$ {bE Cn`moJ H$a gH$Vo h¢

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



52. Which of the following are the

methods of solving problems?

1. Trial and error

2. Mental set

3. Algorithm

4. Heuristics

5. Functional fixedness

Code :

(A) 1, 2 and 3

(B) 1, 4 and 5

(C) 1, 3 and 4

(D) More than one of the above

(E) None of the above

53. A person’s chronological age is

20 years and mental age is

16 years. What would be his IQ?

(A) 120

(B) 100

(C) 80

(D) More than one of the above

(E) None of the above

54. Arjun gets annoyed when his

mother nags him to do his

homework. When he finally does

it, his mother stops nagging.

Now he does the homework

without ‘nagging’. Here ‘nagging’

has served as a

(A) punishment by application

(B) positive reinforcement

(C) negative reinforcement

(D) More than one of the above

(E) None of the above

55. People vary in their perceptual-

cognitive styles which may be

due to

1. the degree to which their

perceptions are flexible

2. aspects of their personality

3. rigid belief

4. field dependence or

independence

5. motives

Select the correct answer using

the code given below.

Code :

(A) 1, 2, 3 and 4

(B) 2, 3, 4 and 5

(C) 1, 3, 4 and 5

(D) More than one of the above

(E) None of the above
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52. {ZÂZ{b{IV _| go H$m°Z-gr g_Ò`m g_mYmZ

H$s {d{Y`m± h¢?

1. ‡`mg Am°a ^yb

2. _mZ{gH$ {d›`mg

3. EÎJmo[aœ_

4. ÒdmZw^{dH$

5. ‡H$m`m©À_H$ pÒWaVm

Hy$Q> :

(A) 1, 2 Am°a 3

(B) 1, 4 Am°a 5

(C) 1, 3 Am°a 4

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

53. {H$gr Ï`{∫$ H$s H$mbH´${_H$ Am`w 20 df©

Am°a _mZ{gH$ Am`w 16 df© h°ü& CgH$s

~w{’-bp„Y ä`m hmoJr?

(A) 120

(B) 100

(C) 80

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

54. AO©wZ H$s _m± O~ Cgo J•hH$m`© H$aZo Ho$ {bE

Q>rH$m-{Q>flnUr H$aVr h°, Vmo dh H´$mo{YV hmo

CR>Vm h°ü& O~ dh A›VVÖ J•hH$m`© H$a boVm

h°, Vmo CgH$s _m± Q>rH$m-{Q>flnUr H$aZm ~›X H$a

XoVr h°ü& A~ dh {~Zm Q>rH$m-{Q>flnUr Ho$ AnZm

J•hH$m`© H$aVm h°ü& `hm± Q>rH$m-{Q>flnUr Zo

{ZÂZ{b{IV _| go {H$g Í$n _| H$m`© {H$`m h°?

(A) AZw‡`moJ ¤mam X�S>

(B) gH$mamÀ_H$ nwZ~©bZ

(C) ZH$mamÀ_H$ nwZ~©bZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

55. bmoJm| H$s ‡À`jmÀ_H$-gßkmZmÀ_H$ e°{b`m| _|

A›Va hmoVm h°, {OgH$m H$maU hmo gH$Vm h°

1. bmoJm| H$m ‡À`jrH$aU {H$g gr_m VH$

bMrbm h°

2. CZHo$ Ï`{∫$Àd Ho$ nhby

3. H$R>moa {dÌdmg

4. joÃ {Z^©aVm AWdm ÒdV›ÃVm

5. ‡oaH$

ZrMo {XE JE Hy$Q> H$m ‡`moJ H$a ghr CŒma H$m
M`Z H$s{OEü&

Hy$Q> :

(A) 1, 2, 3 Am°a 4

(B) 2, 3, 4 Am°a 5

(C) 1, 3, 4 Am°a 5

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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56. Match List–I with List–II and

select the correct answer using

the code given below :

List—I

(Phenomenon)

List—II

(Description)

a. Thought 1. Properties that best

exemplify the concept

b. Concept 2. Process of assigning

an object to a

concept (class)

c. Prototype 3. Language of the mind

d. Categorization 4. Represents an entire

class

Code :

(A) a b c d

3 2 1 4

(B) a b c d

3 4 1 2

(C) a b c d

1 2 3 4

(D) More than one of the above

(E) None of the above

57. Which theory focusses on the

distinction between intrinsic

motivation and extrinsic

motivation?

(A) Theory of reasoned action

(B) Self-determination theory

(C) Stages of change model

(D) More than one of the above

(E) None of the above

58. If you begin with a problem and

come up with many different

solutions in mind, you are using

_____, which is a form of creative

thinking; contrarily sometimes

you come up with correct

solution by using _____ thinking.

(A) convergent, inductive

(B) convergent, deductive

(C) convergent, divergent

(D) More than one of the above

(E) None of the above

59. Humanistic therapies are

different from psychoanalysis

because the humanistic

therapies

(A) are more directive

(B) are action-oriented

(C) focus only on conscious

thought and behaviour

(D) More than one of the above

(E) None of the above

60. Which one of the following tools

measures the applicant’s level of

knowledge and skill in a

particular job in which he will be

appointed?

(A) Personality test

(B) Achievement test

(C) Interest test

(D) More than one of the above

(E) None of the above
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56. gyMr-I H$mo gyMr-II go gw_o{bV H$s{OE Am°a

‡XŒm Hy$Q> go ghr CŒma H$m M`Z H$s{OE :

gyMr–I

(JmoMa)

gyMr–II

({ddaU)

a. {dMma 1. JwU, Omo gß‡À`` H$m gdm}Œm_
—Ô>m›V hmo

b. gß‡À`` 2. {H$gr dÒVw H$mo {H$gr
gß‡À`` (dJ©) go gÂ~’
H$aZo H$s ‡{H´$`m

c. ‡mÍ$n 3. _Z H$s ^mfm

d. gßdJuH$aU 4. g_yMo dJ© H$m ‡{V{Z{YÀd
H$aVm h°

Hy$Q> :

(A) a b c d

3 2 1 4

(B) a b c d

3 4 1 2

(C) a b c d

1 2 3 4

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

57. H$m°Z-gm {g’m›V Am›V[aH$ A{^‡oaUm Edß

~m¯ A{^‡oaUm Ho$ _‹` A›Va na Ho$p›–V h°?

(A) Vm{H©$H$ H$m`©dmhr H$m {g’m›V

(B) AmÀ_-—ãT>{ZÌM` {g’m›V

(C) n[adV©Z ‡mÍ$n H$s AdÒWmE±

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

58. `{X {H$gr g_Ò`m H$m g_mYmZ H$aZo _| {d{dY

‡H$ma Ho$ g_mYmZ AmnHo$ _pÒVÓH$ _| AmVo h¢

V~ Amn _____ {M›VZ H$m ‡`moJ H$aVo h¢ Omo

g•OZmÀ_H$ {M›VZ H$m EH$ ‡H$ma h°ü& BgHo$

{dnarV H$^r-H$^r Amn _____ {M›VZ H$m

‡`moJ H$aVo h˛E ghr g_mYmZ H$a boVo h¢ü&

(A) Angmar, AmJ_ZmÀ_H$

(B) Angmar, {ZJ_ZmÀ_H$

(C) Angmar, A{^gmar

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

59. _mZdVmdmXr {M{H$ÀgmE± _Zmo{dÌbofU go {^fi

h¢, ä`m|{H$ _mZdVmdmXr {M{H$ÀgmE± h¢

(A) A{YH$ {ZX}{eV

(B) H$m`m}›_wIr

(C) Ho$db MoVZ {dMma Edß Ï`dhma na

Ho$p›–V

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

60. AmdoXH$ H$s {H$gr {deof Ï`dgm` _| {Z`w{∫$

Ho$ {bE CgHo$ kmZ Edß H$m°eb Ho$ ÒVa H$m

_mnZ H$aVm h°

(A) Ï`{∫$Àd narjU

(B) Cnbp„Y narjU

(C) A{^È{M narjU

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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61. Match List–I with List–II and

select the correct answer using

the code given below :

List—I

(Description)

List—II

(Nomenclature)

a. Number of new cases

that occurs over a

given period of time

1. Epidemiology

b. Study of distribution

of diseases or health-

related behaviours in

a given population

2. Syndrome

c. Number of active

cases in a popula-

tion in a given period

of time

3. Incidence

d. A group or cluster

of symptoms that

occurs together

4. Prevalence

Code :

(A) a b c d

2 1 3 4

(B) a b c d

4 2 1 3

(C) a b c d

3 1 4 2

(D) More than one of the above

(E) None of the above

62. For a successful ‘person-

centered therapy’, which of the

following will not be a core

condition?

(A) Congruence

(B) Insight

(C) Unconditional positive

regard

(D) More than one of the above

(E) None of the above

63. Dr. Kumar, a clinical psycho-

logist, usually offers deep

relaxation to his phobic

patients. Further, he guides

them to categorize their

apprehensions from least to

most anxiety provoking ones.

Finally, he gradually unfolds

the fear one by one and helps

the patients gain control of

their worries. His therapeutic

approach is best known as

(A) aversion therapy

(B) flooding

(C) systematic desensitization

(D) More than one of the above

(E) None of the above

64. Hypochondriasis is classified

under which disorder as per

DSM-IV?

(A) Mood disorder

(B) Personality disorder

(C) Anxiety-related disorder

(D) More than one of the above

(E) None of the above
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61. gyMr-I H$mo gyMr-II go gw_o{bV H$s{OE Am°a

‡XŒm Hy$Q> go ghr CŒma H$m M`Z H$s{OE :

gyMr–I

(dU©Z)

gyMr–II

(Zm_mdbr)

a. EH$ {ZpÌMV g_`md{Y Ho$
Xm°amZ hmoZo dmbo Z`o amo{J`m| H$s
gßª`m

1. _hm_mar{dkmZ

b. amoJ {dVaU AWdm {H$gr ‡XŒm
OZgßª`m _| ÒdmÒœ` gÂ~›Yr
Ï`dhmam| H$m A‹``Z

2. gßbjU

c. {H$gr ‡XŒm g_`md{Y _|
OZgßª`m _| g{H´$` amo{J`m|
H$s gßª`m

3. ‡^mdjoÃ

d. bjUm| H$m g_yh Omo EH$ gmW
‡JQ> hmoVm h°

4. ‡MbZ

Hy$Q> :

(A) a b c d

2 1 3 4

(B) a b c d

4 2 1 3

(C) a b c d

3 1 4 2

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

62. EH$ g\$b "Ï`{∫$-Ho$p›–V {M{H$Àgm' Ho$ {bE

{ZÂZ{b{IV _| go H$m°Z-gr ‡_wI pÒW{V H$m

hmoZm AmdÌ`H$ Zht hmoJm?

(A) gßJVVm

(B) A›V—©{Ô>

(C) eV©hrZ YZmÀ_H$ gÂ_mZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

63. S>m∞0 Hw$_ma EH$ Z°Xm{ZH$ {M{H$ÀgH$ h¢ü& do

‡m`Ö \$mo{~`m Ho$ amo{J`m| H$mo JhZ {dlmp›V

‡ÒVwV H$aVo h¢ü& CgHo$ ~mX do CZH$mo H$_ go

A{YH$ {M›Vm CÀnfi H$aZo dmbr AmeßH$mAm|

H$mo loUrJV H$aZo Ho$ {bE {ZX}{eV H$aVo h¢ü&

A›V _| do Yrao-Yrao EH$-EH$ H$aHo$ CZHo$ S>am|

H$s Vh ImobVo h¢ Am°a amo{J`m| H$mo CZH$s

{M›VmAm| H$mo {Z`ß{ÃV H$aZo _| _XX H$aVo h¢ü&

CZHo$ {M{H$Àgr` —{Ô>H$moU H$mo gdm©{YH$

_____ Ho$ Í$n _| OmZm OmVm h°ü&

(A) {dÈ{M {M{H$Àgm

(B) ‚bqS>J

(C) H´$_~’ AgßdoXrH$aU

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

64. S>r0 Eg0 E_0 IV Ho$ AZwgma, amoJ^´_ H$mo

{H$g {dH•${V Ho$ A›VJ©V dJuH•$V {H$`m

J`m h°?

(A) _ZmoXem {dH•${V

(B) Ï`{∫$Àd {dH•${V

(C) {M›VmO›` {dH•${V

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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65. Match List–I with List–II and

select the correct answer using

the code given below :

List—I

(Type of

research)

List—II

(Characteristic)

a. Fundamental

research

1. Solution of

immediate problem

b. Applied

research

2. Critical evaluation

and exploration of

present material

c. Analytical

research

3. Relies on

experience and

observation alone

d. Empirical

research

4. Processes that are

universal

Code :

(A) a b c d

4 1 2 3

(B) a b c d

4 3 2 1

(C) a b c d

4 1 3 2

(D) More than one of the above

(E) None of the above

66. Sachin is a type of person who

constantly strives for excellence.

He feels intense satisfaction

when he is able to master a new

task. Sachin most likely has a

high need for

(A) achievement

(B) excellence

(C) affiliation

(D) More than one of the above

(E) None of the above

67. Which of the following

psychologists first empirically

established that social stresses

distort physical health?

(A) Selye

(B) Lazarus and Folkman

(C) Holmes and Rahe

(D) More than one of the above

(E) None of the above

68. What is self-fulfilling prophecy?

(A) This is when someone is

labelled by a group in

power, e.g., police and

teacher, the person starts to

live up to the label

(B) This is when someone

predicts the future in

relation to criminals and a

person sentence

(C) This is when deviant

behaviour increases in

intensity

(D) More than one of the above

(E) None of the above
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65. gyMr-I H$mo gyMr-II go gw_o{bV H$s{OE Am°a

‡XŒm Hy$Q> go ghr CŒma H$m M`Z H$s{OE :

gyMr–I

(emoY Ho$ ‡H$ma)

gyMr–II

({deofVmE±)

a. _yb^yV AZwg›YmZ 1. VmÀH$m{bH$ g_Ò`m
H$m g_mYmZ

b. Ï`mdhm[aH$ AZwg›YmZ 2. dV©_mZ gm_J´r H$m
AmbmoMZmÀ_H$
_yÎ`mßH$Z Edß
A›dofU

c. {dÌbofUmÀ_H$ AZwg›YmZ 3. Ho$db AZŵ d Edß
{ZarjU na AmYm[aV

d. AZŵ dO›` AZwg›YmZ 4. ‡{H´$`mE± Omo
gmd©^m°{_H$ hm|

Hy$Q> :

(A) a b c d

4 1 2 3

(B) a b c d

4 3 2 1

(C) a b c d

4 1 3 2

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

66. g{MZ Bg ‡H$ma H$m Ï`{∫$ h°, Omo {Za›Va

lo>Vm Ho$ {bE ‡`mg H$aVm h°ü& dh V~ Vrd´

g›Vmof H$m AZw^d H$aVm h° O~ dh ZdrZ

H$m`© _| {ZnwUVm ‡m· H$aZo _| gj_ hmoVm h°ü&

g{MZ _| A{YH$mßeVÖ CÉ _____ {d⁄_mZ

h°ü&

(A) Cnbp„Y ‡oaH$

(B) CÀH•$Ô>Vm ‡oaH$

(C) gÂ~’Vm ‡oaH$

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

67. {ZÂZ{b{IV _| go {H$g _Zmod°km{ZH$ Zo

gd©‡W_ AmZw^{dH$ AmYma na ÒWm{nV {H$`m

{H$ gm_m{OH$ VZmd emar[aH$ ÒdmÒœ` H$mo

{dH•$V H$aVm h°?

(A) gobr

(B) bOmag Edß \$moH$_°Z

(C) hmoÂg Edß amho

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

68. AmÀ_nyaH$ ^{dÓ`dmUr go ä`m VmÀn`© h°?

(A) O~ gŒmm g_yh ¤mam {H$gr H$mo bo~b

{H$`m OmVm h°, O°go nw{bg Am°a

A‹`mnH$, V~ Ï`{∫$ Cg bo~b Ho$ gmW

OrZm ‡maÂ^ H$a XoVm h°

(B) O~ H$moB© Anam{Y`m| Edß CZHo$ X�S> Ho$

gÂ~›Y _| ^{dÓ` H$m AZw_mZ bJmVm h°

(C) O~ {dM{bV Ï`dhma _| Vrd´Vm go d•{’

hmoVr h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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69. Which of the following

statements regarding depression

in old age is true?

(A) Depression in older adults

is easily diagnosed and

treated.

(B) Health care providers may

mistake symptoms of

depression as just a natural

reaction to illness or the life

changes that may occur

with ageing and may not

treat depression.

(C) Older adults themselves

often seek help for the

treatment of depression

because they feel that they

could get better with

appropriate treatment.

(D) More than one of the above

(E) None of the above

70. Which one is not considered the

characteristics of social change?

(A) Social change is a universal

phenomenon.

(B) Social change is inevitable.

(C) Social change has regular

speed.

(D) More than one of the above

(E) None of the above

71. In which stage of sleep, brain

waves have a fast frequency and

low amplitude that are very

similar to beta waves occur

when you are wide awake and

alert?

(A) Stage I sleep

(B) REM sleep

(C) Stage III sleep

(D) More than one of the above

(E) None of the above

72. The so-called ‘Hawthorne effect’

refers to which group-related

phenomenon?

(A) One person in a group

usually does most of the

work.

(B) People in group tend to try

get away with doing as little

as possible.

(C) People always perform

better when they are being

watched.

(D) More than one of the above

(E) None of the above
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69. d•’mdÒWm _| AdgmX Ho$ gÂ~›Y _| H$m°Z-gm

H$WZ gÀ` h°?

(A) d•’OZm| _| AdgmX H$m AmgmZr go

{ZXmZ Edß CnMma {H$`m Om gH$Vm h°ü&

(B) ÒdmÒœ` godm ‡XmVm AdgmX Ho$ bjUm|

H$mo, AÒdÒWVm _| `m C_´ ~ãT>Zo na hmoZo

dmbr, Ho$db EH$ Òdm^m{dH$ ‡{V{H´$`m

g_PH$a Ãw{Q> H$a gH$Vo h¢ Am°a AdgmX

H$m CnMma Zht H$a gH$Voü&

(C) d•’OZ Òd`ß Aäga AdgmX Ho$ {ZXmZ

Ho$ {bE _XX Ty>±T>Vo h¢ ä`m|{H$ do AZw^d

H$aVo h¢ {H$ C{MV CnMma go do ~ohVa

AZw^d H$a gH$Vo h¢ü&

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

70. {H$g EH$ H$mo gm_m{OH$ n[adV©Z H$s

{deofVmAm| _| Zht aIm J`m h°?

(A) gm_m{OH$ n[adV©Z EH$ gd©Ï`mnH$ KQ>Zm

h°ü&

(B) gm_m{OH$ n[adV©Z AdÌ`Â^mdr h°ü&

(C) gm_m{OH$ n[adV©Z H$s J{V {Z`{_V

hmoVr h°ü&

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

71. {Z–m H$s {H$g AdÒWm _| _pÒVÓH$ VaßJ| Vrd´

Amd•{Œm Am°a {ZÂZ EÂflbrQ>ÁyS> na ~rQ>m VaßJm|

Ho$ ~h˛V g_mZ hmoVr h¢, O~ Amn nyar Vah go

OmJ´V Edß gOJ hmoVo h¢?

(A) AdÒWm I {Z–m

(B) Ama0 B©0 E_0 {Z–m

(C) AdÒWm III {Z–m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

72. VWmH${WV "hm∞Wm∞Z© ‡^md' go VmÀn`© {H$g

g_yh gÂ~p›YV KQ>Zm go h°?

(A) g_yh _| EH$ Ï`{∫$ ‡m`Ö A{YH$mße H$m`©

H$aVm h°ü&

(B) g_yh _| bmoJ H$_-go-H$_ H$m`© H$aZo Ho$

‡{V C›_wI hmoVo h¢ü&

(C) bmoJm| H$m h_oem lo> {ZÓnmXZ hmoVm h°

O~ C›h| H$moB© XoI ahm hmoVm h°ü&

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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73. The education of learners from

‘disadvantaged’ and ‘deprived’

background can get negatively

influenced by which of the

following factors?

1. Stereotypes

2. Lack of understanding of

local knowledge systems

3. Top-down curriculum

4. Curriculum based on local

culture and language

Code :

(A) 1 and 2

(B) 1, 2 and 3

(C) 1, 2 and 4

(D) More than one of the above

(E) None of the above

74. Who used the concept of relative

deprivation for the first time?

(A) Jacobson

(B) Donald Meichenbaum

(C) Robert K. Merton

(D) More than one of the above

(E) None of the above

75. In order to provide education to

children from the background

of disadvantaged, the teacher

should

(A) use specific curriculum for

all the students

(B) gather information about

them and include them in

class discussions

(C) set moderately challenging

goals and provide the

appropriate instrumental

support

(D) More than one of the above

(E) None of the above

76. Which one of the following

factors does not promote

National Integration?

(A) Constitutional provisions

(B) Governmental initiatives

(C) National festivals and

symbols

(D) More than one of the above

(E) None of the above
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73. "gw{dYm{dhrZ' Edß "dß{MV' n•>^y{_ Ho$

{ejm{W©`m| H$s {ejm {ZÂZ{b{IV _| go {H$Z

H$maH$m| go ZH$mamÀ_H$ Í$n go ‡^m{dV hmoVr h°?

1. Í${ãT>~’ YmaUm

2. ÒWmZr` kmZ V›Ãm| H$s g_P H$m A^md

3. AYmo›_wIr nmR>ÁH´$_

4. ÒWmZr` gßÒH•${V Edß ^mfm na AmYm[aV

nmR>ÁH´$_

Hy$Q> :

(A) 1 Am°a 2

(B) 1, 2 Am°a 3

(C) 1, 2 Am°a 4

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

74. gd©‡W_ gmno{jH$ dßMZ Ho$ gß‡À`` H$m Cn`moJ

{H$gZo {H$`m?

(A) O°H$„gZ

(B) S>moZmÎS> {_eoZ~m∞_

(C) am∞~Q>© Ho$0 _Q>©Z

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

75. gw{dYm{dhrZ n•>^y{_ Ho$ ~Ém| H$mo {ejm ‡XmZ

H$aZo Ho$ {bE A‹`mnH$ H$mo

(A) g^r {d⁄m{W©`m| Ho$ {bE {d{eÔ>

nmR>ÁH´$_ H$m Cn`moJ H$aZm Mm{hE

(B) CZHo$ ~mao _| gyMZmE± EH${ÃV H$aZr

Mm{hE Am°a CZ ~Ém| H$mo H$jm H$s

MMm©Am| _| gpÂ_{bV H$aZm Mm{hE

(C) gm_m›` MwZm°VrnyU© b˙` {ZYm©[aV H$aZo

Mm{hE Am°a C{MV Z°{_{ŒmH$ gh`moJ

‡XmZ H$aZm Mm{hE

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

76. {ZÂZ{b{IV _| go H$m°Z-gm EH$ H$maH$ amÔ¥>r`

EH$sH$aU H$mo Zht ~ãT>mVm h°?

(A) gßd°Ym{ZH$ ‡mdYmZ

(B) gaH$mar CnH´$_

(C) amÔ¥>r` À`m°hma Edß ‡VrH$

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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77. Neelu and Shelu both work in

sales and receive performance

reviews on a regular basis. Neelu

loves these reviews because it

makes her a better sales agent.

Shelu, on the other hand, does

not like to receive negative

feedback because it hurts her

self-esteem and makes her

anxious. Who would be

considered more achievement

motivated and why?

(A) Neither of them would be

considered achievement

motivated

(B) Both of them are

achievement motivated

(C) Shelu, because she does

not like receiving negative

feedback

(D) More than one of the above

(E) None of the above

78. Which one of the following is

not a challenge for the

entrepreneur?

(A) Managing the cash flow of

their business

(B) Recruiting new employees

(C) Choosing the product or

service to sell in the market

(D) More than one of the above

(E) None of the above

79. Which one of the following

statements is false?

(A) An altered state of

consciousness can harm a

person.

(B) An altered state of

consciousness can help a

person.

(C) Drug use is the only way to

create an altered state of

consciousness.

(D) More than one of the above

(E) None of the above

80. Who is considered as the father

of entrepreneurship?

(A) Joseph Schumpeter

(B) Paul Reynolds

(C) Bill Gates

(D) More than one of the above

(E) None of the above
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77. Zrby Am°a erby XmoZm| goÎg _| H$m`©aV h¢ Am°a

{Z`{_V Í$n go CZHo$ {ZÓnmXZ H$s g_rjm C›h|

‡m· hmoVr h°ü& Zrby BZ g_rjmAm| go Iwe h°

ä`m|{H$ Cgo `o g_rjmE± A¿N>m goÎg EOo›Q>

~ZmZo _| _XX H$aVr h¢ü& erby, Xygar Amoa,

ZH$mamÀ_H$ ‡{Vnw{Ô> H$s ‡m{· H$mo ng›X Zht

H$aVr h° ä`m|{H$ Bggo CgHo$ AmÀ_mXa H$mo MmoQ>

nh˛±MVr h° Am°a dh Cgo {Mp›VV ~ZmVr h°ü&

{H$g_| A{YH$ Cnbp„Y A{^‡oaH$ H$m hmoZm

_mZm J`m h° Am°a ä`m|?

(A) XmoZm| _| go {H$gr _| ^r Cnbp„Y

A{^‡oaH$ Zht hmoJm

(B) XmoZm| hr Cnbp„Y A{^‡o[aV h¢

(C) erby, ä`m|{H$ dh ZH$mamÀ_H$ \$sS>~°H$

‡m· H$aZm ng›X Zht H$aVr h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

78. {ZÂZ{b{IV _| go H$m°Z-gr EH$ C⁄_r Ho$ {bE

MwZm°Vr Zht h°?

(A) AnZo Ï`mnma H$s ZJXr Ho$ ‡dmh H$m

‡~›YZ H$aZm

(B) Z`o H$_©Mm[a`m| H$s ^Vu H$aZm

(C) ~mOma _| CÀnmX H$m M`Z Edß {~H´$s H$s

godm H$aZm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

79. {ZÂZ{b{IV _| go H$m°Z-gm H$WZ JbV h°?

(A) MoVZm H$s n[ad{V©V AdÒWm {H$gr

Ï`{∫$ H$mo hm{Z nh˛±Mm gH$Vr h°ü&

(B) MoVZm H$s n[ad{V©V AdÒWm {H$gr

Ï`{∫$ Ho$ {bE _XXJma hmo gH$Vr h°ü&

(C) MoVZm H$s n[ad{V©V AdÒWm CÀnfi H$aZo

Ho$ {bE Am°f{Y H$m Cn`moJ hr EH$_mÃ

_m‹`_ h°ü&

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

80. C⁄{_Vm H$m OZH$ {H$go _mZm J`m h°?

(A) Omogo\$ ewÂnrQ>a

(B) nm∞b aoZm∞ÎS>≤g

(C) {~b JoQ≤>g

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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81. Psychology is said to be the

scientific study of _____ and

_____.

(A) mental illness, mental

health

(B) behaviour, mental

processes

(C) physical states, mental

states

(D) More than one of the above

(E) None of the above

82. Who started the scientific study

of creativity?

(A) Mednick

(B) Guilford

(C) Galton

(D) More than one of the above

(E) None of the above

83. ‘‘Personality is the dynamic

organization within the indi-

vidual of those psychological

systems that determine his

unique adjustment to the

environment.’’ Who gave this

definition?

(A) Eysenck

(B) Cattell

(C) Allport

(D) More than one of the above

(E) None of the above

84. The perception of the stimulus

that is below the threshold for

conscious experience is termed

as

(A) just noticeable difference

(B) differential threshold

(C) signal detection

(D) More than one of the above

(E) None of the above

85. Who has put forth the theory of

social learning?

(A) Hull

(B) Bandura

(C) Watson

(D) More than one of the above

(E) None of the above

86. After the general election in a

country, a social psychologist

interviewed 200 voters to study

their attitudes towards the

winning party. This is an

example of

(A) field experiment

(B) attitude change experiment

(C) correlational study

(D) More than one of the above

(E) None of the above
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81. _Zmo{dkmZ Ï`{∫$ H$s/Ho$ _____ Am°a _____

H$m d°km{ZH$ A‹``Z h°ü&

(A) _mZ{gH$ ~r_mar, _mZ{gH$ ÒdmÒœ`

(B) Ï`dhma, _mZ{gH$ ‡{H´$`mAm|

(C) emar[aH$ AdÒWmAm|, _mZ{gH$

AdÒWmAm|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

82. g•OZmÀ_H$Vm H$m d°km{ZH$ A‹``Z {H$gZo

‡maÂ^ {H$`m?

(A) _oS≤>{ZH$

(B) {JÎ\$moS>©

(C) JmÎQ>Z

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

83. ""Ï`{∫$Àd Ï`{∫$ Ho$ ^rVa CZ _Zmod°km{ZH$

JwUm| H$m JÀ`mÀ_H$ gßJR>Z h°, Omo n`m©daU Ho$

‡{V CgHo$ {d{eÔ> g_m`moOZ H$mo {ZYm©[aV H$aVo

h¢ü&'' `h n[a^mfm {H$gHo$ ¤mam Xr JB© h°?

(A) AmBO|H$

(B) H°$Q>ob

(C) Am∞ÎnmoQ>©

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

84. {H$gr CŒmoOZm H$s AZw^y{V, Omo MoVZ AZw^d

H$s gr_m go ZrMo hmoVr h°, H$hbmVr h°

(A) ~g ‹`mZ XoZo `moΩ` AßVa

(B) {d^oXH$ gr_m

(C) {gæb H$m nVm bJmZm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

85. gm_m{OH$ A{YJ_ {g’m›V {ZÂZ{b{IV _| go

{H$gZo {X`m h°?

(A) hb

(B) ~ßSw>am

(C) dm∞Q≤>gZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

86. EH$ Xoe _| Am_ MwZmd Ho$ ~mX, EH$ gm_m{OH$

_Zmod°km{ZH$ Zo {dOoVm nmQ>u Ho$ ‡{V CZHo$

—{Ô>H$moU H$m A‹``Z H$aZo Ho$ {bE 200

_VXmVmAm| H$m gmjmÀH$ma {b`mü& `h EH$

CXmhaU h°

(A) joÃ ‡`moJ H$m

(B) —{Ô>H$moU n[adV©Z ‡`moJ H$m

(C) ghgÂ~›Y A‹``Z H$m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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87. In reasoning, when the promises

are true, _____ cannot be false.

(A) conclusion

(B) argument

(C) thoughts

(D) More than one of the above

(E) None of the above

88. Understanding about one’s own

use of language systematically is

referred to as

(A) metalinguistic awareness

(B) pragmatics

(C) pronunciation

(D) More than one of the above

(E) None of the above

89. When information currently

being learned adversely affects

the retention of information

acquired previously, the

phenomenon is referred to as

(A) distortion

(B) retroactive interference

(C) proactive interference

(D) More than one of the above

(E) None of the above

90. Annual or semi-annual ratings

of each employee’s performance,

coupled with feedback about the

ratings they receive are referred

to as

(A) performance appraisals

(B) rating inventories

(C) behaviourally anchored

rating scales

(D) More than one of the above

(E) None of the above

91. The way in which a child’s

efforts to master a new or

challenging task is supported

in a flexible and contingent way

by teachers, parents or more

competent persons, is called

(A) scaffolding

(B) social influence

(C) social mediation

(D) More than one of the above

(E) None of the above

92. Which one of the following

theories predicts that work

motivation will be low if an

employee perceives that an

increased effort will have little

or no effect on his/her

performance?

(A) Just-world theory

(B) Need-drive theory

(C) Expectancy theory

(D) More than one of the above

(E) None of the above
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87. VH©$ _| O~ n[aga gÀ` h°, _____ JbV Zht

hmo gH$Vmü&

(A) {ZÓH$f©

(B) VH©$

(C) {dMma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

88. ^mfm Ho$ Ï`dpÒWV ‡`moJ Ho$ gÂ~›Y _| Òd`ß

H$s g_P H$mo H$hm OmVm h°

(A) YmVw^mfm gÂ~›Yr OmJÍ$H$Vm

(B) Cn`mo{JVmdmX

(C) CÉmaU

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

89. O~ hmb hr _| A{YJ{_V gyMZm nhbo go

J•hrV gyMZm H$s YmaUm na ‡{VHy$b ‡^md

S>mbVr h°, Vmo Bg KQ>Zm H$mo H$hVo h¢

(A) {dÍ$nU

(B) n•>mo›_wIr ‡mdamoY

(C) AJ´mo›_wIr ‡mdamoY

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

90. ‡À`oH$ H$_©Mmar Ho$ H$m`©-{ZÓnmXZ H$s dm{f©H$

`m AY©-dm{f©H$ aoqQ>J, \$sS>~°H$ Ho$ gmW C›h|

‡m· aoqQ>J Ho$ ~mao _|, H$mo H$hVo h¢

(A) H$m`©-{ZÓnmXZ _yÎ`-{ZÍ$nU

(B) aoqQ>J gyMr

(C) Ï`mdhm[aH$ Í$n go gÂ~’ aoqQ>J _mnZr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

91. Z`o `m MwZm°VrnyU© H$m`© na {ZnwUVm hm{gb

H$aZo Ho$ ~Éo Ho$ ‡`mgm| H$mo {Og ‡H$ma go

A‹`mnH$m|, A{^^mdH$m| `m ¡`mXm {ZnwU

Ï`{∫$`m| ¤mam ZÂ` VWm ‡mgß{JH$ T>ßJ go

‡moÀgm{hV {H$`m OmVm h°, Cgo H$hVo h¢

(A) nmãS> ~mßYZm (ÒH°$µ\$mopÎS>®J)

(B) gm_m{OH$ ‡^md

(C) gm_m{OH$ _‹`ÒWVm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

92. {ZÂZ{b{IV _| go H$m°Z-gm {g’m›V `h

^{dÓ`dmUr H$aVm h° {H$ H$m`© H$s A{^‡oaUm

H$_ hmoJr `{X H$_u g_PVm h° {H$ CgHo$

‡`ÀZ _| d•{’ CgH$s {ZÓnfiVm ({ZÓnmXZ) na

H$_ `m H$moB© ^r ‡^md Zht S>mboJr?

(A) ›`m`nyU© {dÌd {g’m›V

(B) AmdÌ`H$Vm-A›VZm}X {g’m›V

(C) ‡À`mem {g’m›V

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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93. Arrange the following tests

in increasing order of their

saturation on projective criteria :

1. Thematic apperception test

2. Differential aptitude test

3. Rorschach inkblot test

4. Incomplete sentence blank

test

Code :

(A) 3, 1, 2, 4

(B) 2, 4, 3, 1

(C) 3, 1, 4, 2

(D) More than one of the above

(E) None of the above

94. Which of the following are

the characteristics of Cattell’s

culture fair intelligence test?

1. Speed

2. Power

3. Non-verbal

4. Performance

Code :

(A) 1 and 3

(B) 1, 2 and 3

(C) 1, 2 and 4

(D) More than one of the above

(E) None of the above

95. Which of the following

components have been proposed

by Torrance?

1. Divergent thinking

2. Elaboration

3. Transformation

4. Flexibility

Code :

(A) 1 and 2

(B) 2 and 3

(C) 2 and 4

(D) More than one of the above

(E) None of the above

96. Training and development offer

competitive advantage to a firm

by

1. removing performance

deficiency

2. minimizing accidents and

damage

3. making employees stay long

4. meeting employees personal

needs

Select the correct answer using

the code given below.

Code :

(A) 1, 3 and 4

(B) 2, 3 and 4

(C) 1, 2 and 4

(D) More than one of the above

(E) None of the above
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93. {ZÂZ{b{IV narjUm| H$mo ‡jonUr` {ZH$f Ho$

AmYma na CZHo$ gßV•{·H$aU Ho$ dY©_mZ H´$_ _|

Ï`dpÒWV H$s{OE :

1. H$œ` gß‡À`jU narjU

2. {d^oXH$ A{^j_Vm narjU

3. amoem© Ò`mhr-Y„~m narjU

4. AnyU© dmä` [a∫$ narjU

Hy$Q> :

(A) 3, 1, 2, 4

(B) 2, 4, 3, 1

(C) 3, 1, 4, 2

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

94. H°$Q>ob Ho$ gßÒH•${V g_Vm ~w{’ narjU H$s

{deofVmE± H$m°Z-gr h¢?

1. J{V (ÒnrS>)

2. e{∫$ (gm_œ`©)

3. Aemp„XH$

4. {ZÓnfiVm

Hy$Q> :

(A) 1 Am°a 3

(B) 1, 2 Am°a 3

(C) 1, 2 Am°a 4

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

95. {ZÂZ{b{IV gßKQ>H$m| _| go {H$›h| Q>m∞ao›g Zo

‡ÒVm{dV {H$`m?

1. Angmar {M›VZ/gmoM-{dMma

2. {dÒVmarH$aU

3. Í$nm›VaU

4. ZÂ`Vm

Hy$Q> :

(A) 1 Am°a 2

(B) 2 Am°a 3

(C) 2 Am°a 4

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

96. {H$gr \$_© H$mo _____ ‡{ejU Am°a {dH$mg

go ‡{VÒnYu bm^ {_bVm h°ü&

1. {ZÓnmXZ _| H$_r H$mo Xya H$aHo$

2. XwK©Q>ZmAm| Am°a j{V`m| H$mo H$_ H$aHo$

3. H$_©Mm[a`m| Ho$ bÂ~o g_` VH$ ~Zo

ahZo go

4. H$_©Mm[a`m| H$s Ï`{∫$JV OÍ$aVm| H$mo nyam

H$aHo$

ZrMo {XE JE Hy$Q> H$m ‡`moJ H$a ghr CŒma H$m
M`Z H$s{OEü&

Hy$Q> :

(A) 1, 3, 4

(B) 2, 3, 4

(C) 1, 2, 4

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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97. Which of the following

sequences is correct?

(A) Oral, Anal, Latency, Phallic,

Genital

(B) Anal, Oral, Phallic, Latency,

Genital

(C) Oral, Anal, Phallic, Latency,

Genital

(D) More than one of the above

(E) None of the above

98. Which of the following are not

identified by Thurstone?

1. Induction

2. Spatial

3. Symbolic

4. Semantic

Code :

(A) 1 and 2

(B) 3 and 4

(C) 1 and 3

(D) More than one of the above

(E) None of the above

99. Failure to develop consistent

identity results in

(A) inferiority

(B) role confusion

(C) stagnation

(D) More than one of the above

(E) None of the above

100. The maximum role of

McClelland contribution is in

(A) need for affiliation

(B) aggressiveness motive

(C) achievement motive

(D) More than one of the above

(E) None of the above

101. According to Freud, in which

stage of development does the

Oedipus Complex take place?

(A) Oral stage

(B) Anal stage

(C) Phallic stage

(D) More than one of the above

(E) None of the above

102. The maximum frequency of

nerve impulse in human being is

(A) 800/second

(B) 400/second

(C) 600/second

(D) More than one of the above

(E) None of the above

103. Four important elements in the

theory of signal detection are

(A) error, hit, speed, accuracy

(B) speed, accuracy, power,

false alarm

(C) hit, miss, correct rejection,

false alarm

(D) More than one of the above

(E) None of the above
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97. {ZÂZ{b{IV _| go H$m°Z-gm ghr H´$_ h°?

(A) _wIr`, JwXr`, {eÌZr`, b¢{JH$, OZZr`

(B) JwXr`, _wIr`, b¢{JH$, {eÌZr`, OZZr`

(C) _wIr`, JwXr`, b¢{JH$, {eÌZr`, OZZr`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

98. WÒQ>©Z ¤mam {ZÂZ{b{IV _| go {H$ZH$m nVm Zht

bJm`m J`m?

1. ‡oaU

2. ÒWm{ZH$

3. ‡VrH$mÀ_H$

4. e„XmW© {df`H$

Hy$Q> :

(A) 1 Am°a 2

(B) 3 Am°a 4

(C) 1 Am°a 3

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

99. gwgßJV nhMmZ {dH${gV H$aZo _| {d\$bVm

{H$gHo$ n[aUm_ÒdÍ$n hmoVr h°?

(A) hrZ^mdZm

(B) ^y{_H$m CbPZ

(C) {ZpÓH´$`Vm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

100. _°H≤$äbob°�S> Ho$ `moJXmZ H$s g~go A{YH$

^y{_H$m h°

(A) gÂ~’Vm H$s AmdÌ`H$Vm _|

(B) AmH´$m_H$Vm A{^‡oaUm _|

(C) Cnbp„Y A{^‡oaUm _|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

101. \´$m`S> Ho$ AZwgma, B{S>ng H$m∞Âflboäg {dH$mg

Ho$ {H$g MaU _| hmoVm h°?

(A) _wImdÒWm

(B) JwXmdÒWm

(C) qbJ ‡YmZmdÒWm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

102. _ZwÓ` _| Vß{ÃH$m AmdoJ H$s A{YH$V_ Amd•{Œm

h°

(A) 800 ‡{V goHß$S>

(B) 400 ‡{V goHß$S>

(C) 600 ‡{V goHß$S>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

103. {gæb H$m nVm bJmZo Ho$ {g’m›V _| Mma

_hŒdnyU© VŒd h¢

(A) Ãw{Q>, {hQ>, J{V, gQ>rH$Vm

(B) J{V, gQ>rH$Vm, e{∫$, PyR>m Abm_©

(C) {hQ>, {_g, ghr AÒdrH•${V, PyR>m

Abm_©

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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104. Where the interviewer cannot

change the material of interview,

is

(A) standardized interview

(B) structured interview

(C) unstructured interview

(D) More than one of the above

(E) None of the above

105. Hypothalamus is

(A) helpful in sleep

(B) helpful in thirst and hunger

(C) involved with body

temperature

(D) More than one of the above

(E) None of the above

106. Which of the following is

correctly arranged?

(A) Encoding ® Retrieval ®
Storage

(B) Encoding ® Storage ®
Retrieval

(C) Storage ® Encoding ®
Retrieval

(D) More than one of the above

(E) None of the above

107. The development of self-esteem

occurs

(A) on satisfaction of physio-

logical needs

(B) on satisfaction of safety

needs

(C) on satisfaction of affective

needs

(D) More than one of the above

(E) None of the above

108. When parallel lines seem to be

converging as they recede into

distance is called

(A) aerial perspective

(B) linear perspective

(C) curvilinear perspective

(D) More than one of the above

(E) None of the above

109. Suppose in an experiment,

Stimulus 1 (S1) is food, response

for S1 is salivation (R1);

Stimulus 2 (S2) is bell, response

for S2 is listening (R2); classical

conditioning will relate

(A) S1 to R1

(B) S2 to R2

(C) S1 to R2

(D) More than one of the above

(E) None of the above

110. The latent learning can be best

described as

(A) learning that depends on

mental process

(B) learning that is not

immediately reflected in

behaviour change

(C) learning that is based on

reward and punishment

(D) More than one of the above

(E) None of the above
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104. Ohm± gmjmÀH$maH$Vm©, gmjmÀH$ma H$s gm_J´r H$mo

n[ad{V©V Zht H$a gH$Vm h°, h°

(A) _mZH$sH•$V gmjmÀH$ma

(B) gßa{MV gmjmÀH$ma

(C) Agßa{MV gmjmÀH$ma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

105. hmBnmoW°bo_g Cn`moJr h°/gÂ~p›YV h°

(A) {Z–m _|

(B) ^yI Edß fl`mg _|

(C) X°{hH$ Vmn_mZ go

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

106. {ZÂZ{b{IV _| go H$m°Z-gm ghr T>ßJ go

Ï`dpÒWV h°?

(A) Hy$Q> gßHo$VZ ® nwZÖ‡m{· ® ^ßS>maU

(B) Hy$Q> gßHo$VZ ® ^ßS>maU ® nwZÖ‡m{·

(C) ^ßS>maU ® Hy$Q> gßHo$VZ ® nwZÖ‡m{·

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

107. Òdm{^_mZ H$m {dH$mg hmoVm h°

(A) X°{hH$ AmdÌ`H$VmAm| H$s gßVw{Ô> na

(B) gwajm AmdÌ`H$VmAm| H$s gßVw{Ô> na

(C) ÒZoh AmdÌ`H$VmAm| H$s gßVw{Ô> na

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

108. g_mZm›Va aoImE± ¡`m|-¡`m| nrN>o hQ>Vr OmVr h¢

do A{^g[aV hmoVr {XIVr h¢, {Ogo H$hm OmVm

h°

(A) dm`dr` n[a‡o˙`

(B) aoIr` n[a‡o˙`

(C) dH´$s` n[a‡o˙`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

109. _mZ br{OE {H$ {H$gr ‡`moJ _|, C‘rnH$ 1

(stimulus 1) (S1) ^moOZ h°, S1 Ho$

{bE ‡{V{H´$`m (response) salivation

(R1) h°; C‘rnH$ 2 (stimulus 2)

(S2) KßQ>r h°, S2 Ho$ {bE ‡{V{H´$`m gwZZm

(listening) h° (R2); Eogo _| äbm{gH$b

Hß$S>reqZJ {H$gH$mo {H$ggo gÂ~p›YV H$aoJm?

(A) S1 go R1

(B) S2 go R2

(C) S1 go R2

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

110. AÏ`∫$ grI g~go CÉ Í$n _| H°$go d{U©V H$s

Om gH$Vr h°?

(A) grIZm, Omo _mZ{gH$ ‡{H´$`m na {Z^©a

H$aVm h°

(B) grIZm, Omo {H$ Ï`dhma n[adV©Z _| VwaßV

n[ab{jV Zht hmoVm h°

(C) grIZm, Omo nwaÒH$ma/‡{V\$b Am°a gOm

na AmYm[aV h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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111. Which of the following is

important in dealing with

stress?

(A) Adrenal gland

(B) Pituitary gland

(C) Sympathetic system

(D) More than one of the above

(E) None of the above

112. Which of the following is not

an example of human reflex

actions?

(A) Knee-jerk reflexes

(B) Blinking reflexes

(C) Ankle-jerk reflexes

(D) More than one of the above

(E) None of the above

113. Memory can be distorted by

being influenced by the

individual’s expectations rather

than what has actually

happened. This is termed as

(A) mood-dependent memory

(B) mood-congruence effect

(C) flashbulb memory

(D) More than one of the above

(E) None of the above

114. Who among the following is

credited with developing logo-

therapy?

(A) Fritz Perls

(B) Eric Berne

(C) Viktor Frankl

(D) More than one of the above

(E) None of the above

115. Speed and power tests cannot

be differentiated on the basis of

1. time limit

2. verbal content

3. non-verbal content

4. difficulty level

Select the correct answer using

the code given below.

Code :

(A) 1 and 4

(B) 2 and 4

(C) 2 and 3

(D) More than one of the above

(E) None of the above

116. According to _____ theory,

thoughts and feelings change

because people are motivated to

justify emotions that would

otherwise seem hypothetical.

This theory was proposed by

_____.

(A) dissonance, Festinger

(B) cognitive dissonance,

Festinger

(C) cognitive dissonance, Baron

(D) More than one of the above

(E) None of the above
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111. VZmd go {ZnQ>Zo Ho$ {bE {ZÂZ{b{IV _| go

H$m°Z-gr _hŒdnyU© h°?

(A) ES¥>oZb J´ß{W

(B) {nQ>ÁyQ>ar J´ß{W

(C) {gÂn°Wo{Q>H$ ‡Umbr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

112. {ZÂZ{b{IV _| go H$m°Z-gm _mZd [a‚boäg

EoäeZ H$m CXmhaU Zht h°?

(A) KwQ>Zm (Zr)-OH©$ [a‚boäg

(B) nbH$ PnH$Zm (p„b®qH$J) [a‚boäg

(C) Q>IZm (E|H$b)-OH©$ [a‚boäg

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

113. Ò_•{V, ~Om` CgHo$ Omo dmÒVd _| K{Q>V h˛Am

h°, Ï`{∫$ H$s ‡À`memAm| go ‡^m{dV hmoH$a

{dH•$V hmo OmVr h°ü& Bgo H$hVo h¢

(A) _ZmoXem-Am{lV Ò_•{V

(B) _ZmoXem-gm_ßOÒ` ‡^md

(C) jUXrn Ò_•{V

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

114. "bmoJmo' {M{H$Àgm {dH${gV H$aZo H$m lo`

{ZÂZ{b{IV _| go {H$go {X`m OmVm h°?

(A) {\´$Q≤>O nÎg©

(B) E[aH$ ~Z©

(C) {däQ>a \´¢$H≤$b

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

115. J{V (`m a‚Vma) Am°a e{∫$ H$m narjU

{ZÂZ{b{IV Ho$ AmYma na {d^o{XV Zht {H$`m

Om gH$Vm h° :

1. g_`-gr_m

2. _m°{IH$ {df`dÒVw

3. J°a-_m°{IH$ {df`dÒVw

4. H${R>ZmB© H$m ÒVa

ZrMo {XE JE Hy$Q> H$m ‡`moJ H$a ghr CŒma H$m
M`Z H$s{OEü&

Hy$Q> :

(A) 1 Am°a 4

(B) 2 Am°a 4

(C) 2 Am°a 3

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

116. _____ {g’m›V Ho$ AZwgma, {dMmam| Am°a

^mdm| _| ~Xbmd H$m H$maU `h h° {H$ bmoJ Eogo

^mdm| H$mo C{MV {g’ H$aZo H$s Amoa ‡o[aV hmoVo

h¢ Omo A›`Wm n[aH$pÎnV ‡VrV hmoVo h¢ü& Bg

{g’m›V H$mo _____ Zo ‡ÒVm{dV {H$`m Wmü&

(A) {dgßdm{XVm, \o$pÒQ>®Ja

(B) gßkmZmÀ_H$ {dgßdm{XVm, \o$pÒQ>®Ja

(C) gßkmZmÀ_H$ {dgßdm{XVm, ~°aZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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117. Match List–I with List–II and

select the correct answer using

the code given below :

List—I

(Charismatic

leader)

List—II

(Characteristic)

a. Personal risk 1. Engages in

behaviours that are

perceived as novel

and counter to

norms

b. Environmental

sensitivity

2. Willing to take on

high personal risk,

incur high costs

and engage in self-

sacrifice to achieve

the vision

c. Sensitivity to

follower needs

3. Able to make a

realistic assess-

ment of the

environmental

constraints and

resources needed to

bring about change

d. Unconventional

behaviour

4. Perceptive of others’

abilities and

responsive to their

needs and feeling

Code :

(A) a b c d

2 3 4 1

(B) a b c d

1 4 3 2

(C) a b c d

2 4 3 1

(D) More than one of the above

(E) None of the above

118. The factors that influence social

behaviour and thoughts in

certain ways are called

(A) independent variables

(B) confounding variables

(C) dependent variables

(D) More than one of the above

(E) None of the above

119. Reema had written a list to

do her weekend work, but

incidently left it at home while

going out for her first activity.

Trying to remember the list,

Reema remembers what was at

the beginning and at the end of

the list but was not able to recall

the middle portion of the list.

This is an example of

(A) encoding specificity effect

(B) flashbulb memory

(C) serial position effect

(D) More than one of the above

(E) None of the above

120. In Bloom’s taxonomy of

educational objectives, which of

the following appears in

ascending order?

(A) Remember—Understand—

Apply—Analyze

(B) Apply—Analyze—

Understand—Remember

(C) Understand—Apply—

Remember—Analyze

(D) More than one of the above

(E) None of the above
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117. gyMr-I H$mo gyMr-II go gw_o{bV H$s{OE Am°a

‡XŒm Hy$Q> go ghr CŒma H$m M`Z H$s{OE :

gyMr–I

(H$[aÌ_mB© ZoVm)

gyMr–II

({deofVmE±)

a. Ï`{∫$JV Omo{I_ 1. Eogo Ï`dhma _| gßbæ H$aVm
h° Omo Z`o hm| Am°a _mZH$ Ho$
{damoYr hm|

b. n[adoeJV
gßdoXZerbVm

2. b˙` hm{gb H$aZo Ho$ {bE
^mar Ï`{∫$JV Omo{I_
CR>mZo, ^mar H$s_V MwH$mZo
Am°a AmÀ_À`mJ Ho$ {bE
V°`ma ahZm

c. AZẁ m{`Am| H$s
AmdÌ`H$VmAm| Ho$
‡{V gßdoXZerbVm

3. n[adV©Z bmZo Ho$ {bE OÍ$ar
n[adoeJV ~m‹`VmAm| Am°a
gßgmYZm| H$m `WmW© ‡m∏$bZ
H$aZo H$s `moΩ`Vm

d. AnaßnamJV
Ï`dhma

4. A›` bmoJm| H$s `moΩ`VmAm|
Ho$ ‡{V AZŵ y{V‡dU Am°a
CZH$s AmdÌ`H$VmAm| VWm
AZŵ y{V`m| Ho$ ‡{V
‡À ẁŒmaH$mar hmoZm

Hy$Q> :

(A) a b c d

2 3 4 1

(B) a b c d

1 4 3 2

(C) a b c d

2 4 3 1

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

118. Hw$N> {ZpÌMV _m_bm| _| gm_m{OH$ Ï`dhma Am°a

{dMmam| H$mo ‡^m{dV H$aZo dmbo H$maH$m| H$mo

H$hm OmVm h°

(A) AZm{lV Ma

(B) AÒnÔ> Ma

(C) Am{lV Ma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

119. ar_m Zo AnZo g·mhmßV Ho$ H$m`© H$aZo Ho$ {bE

EH$ gyMr {bIH$a V°`ma H$s, bo{H$Z gß`moJde

dh AnZr nhbr J{V{d{Y Ho$ {bE ~mha OmVo

g_` Bgo Ka na N>moãS> JB©ü& gyMr H$mo `mX H$aZo

H$s H$mo{ee _| ar_m Zo `mX {H$`m {H$ gyMr Ho$

AmaÂ^ Am°a A›V _| ä`m Wm bo{H$Z gyMr Ho$

_‹` _| ä`m Wm Cgo `mX Zht Am`mü&

{ZÂZ{b{IV _| go `h {H$gH$m CXmhaU h°?

(A) Hy$Q>Z {deofVm ‡^md

(B) ‚b°e-~Î~ Ò_•{V

(C) H´${_H$ pÒW{V ‡^md

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

120. „by_ Ho$ e°j{UH$ C‘oÌ`m| Ho$ dJuH$aU _|

{ZÂZ{b{IV _| go H$m°Z-gm ~ãT>Vo h˛E H´$_ H$mo

Xem©Vm h°?

(A) `mX H$aZm—g_PZm—AZw‡`moJ

H$aZm—{dÌbofU H$aZm

(B) AZw‡`moJ H$aZm—{dÌbofU H$aZm—

g_PZm—`mX H$aZm

(C) g_PZm—AZw‡`moJ H$aZm—

`mX H$aZm—{dÌbofU H$aZm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



18/HV/M–2023–16 PSY (HS)/28-A 46

SPACE FOR ROUGH WORK / aµ\$ H$m`© Ho$ {bE ÒWmZ



SPACE FOR ROUGH WORK / aµ\$ H$m`© Ho$ {bE ÒWmZ

H H H

18/HV/M–2023–16 PSY (HS)/28-A 47 [ P.T.O.



18/HV/M–2023–16 nwpÒVH$m ˚m•ßIbm
CÂ_rXdma H$m AZwH´$_mßH$

‡ÌZ-nwpÒVH$m

gm_m›` A‹``Z Edß _Zmo{dkmZ
nÃ—4

‡ÌZm| Ho$ CŒma XoZo go nhbo ZrMo {bIo AZwXoem| H$mo ‹`mZ go nãT> b|ü&

_hŒdnyU© AZwXoe

1. `h ‡ÌZ-nwpÒVH$m Xmo ^mJm| _| {d^m{OV h°, ^mJ–I Edß ^mJ–IIü& ^mJ–I _| gm_m›` A‹``Z VWm ^mJ–II _| _Zmo{dkmZ Ho$ ‡ÌZ h¢ü&
2. ^mJ–I _| ‡ÌZ gßª`m 1 go 40 VH$ VWm ^mJ–II _| ‡ÌZ gßª`m 41 go 120 VH$ h°ßü& g^r ‡ÌZ Am°a CZHo$ CŒma AßJ´oOr Edß {h›Xr

_|  _w{–V  h¢ü&

3. g^r ‡ÌZm|  Ho$  AßH$  g_mZ  h¢ü&
4. ^mJ–I Edß ^mJ–II Ho$  ‡ÌZm|  Ho$  CŒma  X|ü&
5. narjm AmaÂ^ hmoVo hr Amn AnZr ‡ÌZ-nwpÒVH$m H$s Om±M H$a XoI b| {H$ BgHo$ D$na Xm`t Amoa ‡ÌZ-nwpÒVH$m H$s ˚m•ßIbm

_w{–V h°ü& H•$n`m Om±M b| {H$ nwpÒVH$m _| aµ\$ H$m`© hoVw Xmo n•>m| (n•> gß0 46 Am°a 47) g{hV nyao 48 _w{–V n•> h¢ Am°a H$moB©
‡ÌZ `m n•> {~Zm N>nm h˛Am `m \$Q>m h˛Am `m Xmo~mam Am`m h˛Am Vmo Zht h°ü& nwpÒVH$m _| {H$gr ‡H$ma H$s Ãw{Q> nmZo na VÀH$mb
BgHo$  ~Xbo Bgr ˚m•ßIbm  H$s Xygar ghr nwpÒVH$m  bo  b|ü&

6. Bg  n•>  Ho$  D$na {ZYm©[aV ÒWmZ _| AnZm AZwH´$_mßH$ AdÌ`  {bI|ü& ‡ÌZ-nwpÒVH$m na Am°a Hw$N>  Z  {bI|ü&
7. ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE AmnH$mo drjH$ ¤mam AbJ go CŒma nÃH$ {X`m Om`oJmü& AnZo CŒma nÃH$ Ho$ n•>-1 na {ZYm©[aV ÒWmZ _|

AnZm Zm_, AZwH´$_mßH$, ‡ÌZ-nwpÒVH$m ˚m•ßIbm VWm A›` {ddaU AdÌ` {bI| A›`Wm AmnH$m CŒma nÃH$ Om±Mm Zht
Om`oJmü&

8. CŒma nÃH$ Ho$ n•>-2 na {ZYm©[aV ÒWmZ _| AnZo AZwH´$_mßH$ VWm ‡ÌZ-nwpÒVH$m H$s ˚m•ßIbm A, B, C `m D O°gm Bg
‡ÌZ-nwpÒVH$m Ho$ AmdaU n•> Ho$ D$na Xm`t Amoa Aß{H$V h°, go gÂ~p›YV d•Œm H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ go AdÌ`
Hy$Q>~’ H$a|ü& CŒma nÃH$ na ‡ÌZ-nwpÒVH$m ˚m•ßIbm Aß{H$V Zht H$aZo AWdm JbV ˚m•ßIbm Aß{H$V H$aZo na CŒma nÃH$ H$m ghr
_yÎ`mßH$Z Zht hmoJmü&

9. ‡À`oH$ ‡ÌZ Ho$ nm±M CŒmaçç(A), (B), (C), (D) Am°a (E) H´$_ na {X`o J`o h¢ü& CZ_| go Amn g~go ghr Ho$db EH$ CŒma H$mo MwZ|
Am°a AnZo CŒma nÃH$ na Aß{H$V H$a|ü& ‡À`oH$ ‡ÌZ Ho$ {bE Ho$db EH$ hr CŒma MwZZm h°ü& AmnH$m Hw$b ‡m·mßH$ AmnHo$ ¤mam CŒma nÃH$ _|
Aß{H$V ghr CŒmam| na {Z^©a H$aoJmü&

10. CŒma nÃH$ _| ‡À`oH$ ‡ÌZ gßª`m Ho$ gm_Zo nm±M d•Œm Bg ‡H$ma ~Zo h˛E h¢çç Am°a ü& ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE
AmnH$mo AnZr ng›X Ho$ Ho$db EH$ d•Œm H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ go {M{ïV H$aZm h°ü& ‡À`oH$ ‡ÌZ Ho$ {bE Ho$db EH$
CŒma H$mo MwZ| Am°a Cgo AnZo CŒma nÃH$ _| {M{ïV H$a|ü& Amn CŒma nÃH$ _| `{X EH$ ‡ÌZ Ho$ {bE EH$ go A{YH$ d•Œm _| {ZemZ bJmVo h¢,
Vmo AmnH$m CŒma JbV _mZm Om`oJmü& CŒma nÃH$ _| CŒma H$mo {M{ïV H$aZo Ho$ {bE Ho$db H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ
H$m  hr  ‡`moJ H$a|ü&  {H$gr  ^r ‡H$ma  H$m  H$mQ>-Hy$Q> AWdm n[adV©Z  _m›` Zht h°ü&

11. CÂ_rXdma ¤mam ‡À`oH$ ‡ÌZ Ho$ JbV CŒma Ho$ {bE ‡ÌZ hoVw {Z`V {H$`o J`o AßH$moß H$m EH$-Mm°WmB© AßH$ X�S> Ho$ Í$n _| H$mQ>m Om`oJmü&
12. ‡ÌZ-nwpÒVH$m go H$moB© nfim \$mãS>Zm `m AbJ H$aZm _Zm h°ü& ‡ÌZ-nwpÒVH$m Am°a CŒma nÃH$ H$mo narjm Ad{Y _| narjm ^dZ go ~mha

H$Xm{n Z bo Om`|ü& narjm Ho$ g_mnZ na CŒma nÃH$ drjH$ H$mo AdÌ` gm¢n X|ü& CgHo$ ~mX AmnH$mo AnZr ‡ÌZ-nwpÒVH$m AnZo gmW
bo OmZo H$s AZw_{V  h°ü&

13. D$na Ho$ AZwXoem| _| go {H$gr EH$ H$m ^r nmbZ Zht H$aZo na Amn na Am`moJ Ho$ {ddoH$mZwgma H$ma©dmB© H$s Om gH$Vr h° AWdm AmnH$mo
X�S>  {X`m  Om gH$Vm h°ü&

14. A‰`Wu CŒma nÃH$ H$mo AnZr CnpÒW{V _| Self Adhesive LDPE Bag _| nyar Vah go n°H$/grb H$admZo Ho$ CnamßV hr narjmH$j
H$mo  N>moãS>|ü&

Note : English version of the instructions is printed on the First Page of this Booklet.
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